This drawing is confidential and must not be reproduced or used without the consent of EXM

Tolerance +1/32" unless otherwise specified C:\Vault Workspace\lnventor Dwg\Inv-1\1412T3203\1412T3203.idw Tolérance +1/32" sauf spécification contraire

4 APPROVED FOR PRODUCTION YNo. Revisions Date By/Par )
-~ - . APPROUVE POUR PRODUCTION
SIGNATURE:
NAME / NOM:
DATE:
Y Please visit: www.boxcadexm.com
T(LP
S o
S “ S S
o © o o
o ()
Py o b ) g —36.000
b —
) "™y o ( —
d —
\ ———
d ———
) b d ) Isometric View
Flatness
Aplatissement
/\
\ Tél: (450) 979-4373 P_Wa_x_s._oan_n_
Fax: (450) 979-4626 fi
- - ‘ ‘ —0.000 DYVT7])7) o oxmwed.com @OHE
BACK LEFT FRONT RliHT gﬁ:;]?mer Date
Drawn B BoxCad: ZinH Date 5022/7/20
Material
Matiere 16 Ga H.R.P. & O. (1.4mm)
Color Finish
Couleur Asa-61 Grey Fini Smooth
Description Detail Rev.
- L N 141273203 Assembly
Part Numb Rev.
BOTTOM Numéro Pisce o
141273203 0 5 )

N X3 ap JUaliajuasuod 9] SUES osin No JINpoidal 8118 Sed JIop U J8 [2jUSpIU0D 158 UISSap 80



Tolerance +1/32" unless otherwise specified

C:\Vault Workspace\lnventor Dwg\lnv-1\1412T3203\1412T3203.idw

Tolérance +1/32" sauf spécification contraire

This drawing is confidential and must not be reproduced or used without the consent of EXM

NOTE APPROVED FOR PRODUCTION Mo Revisions Date By/Par )
ITEM DESCRIPTION APPROUVE POUR PRODUCTION
1 |[NEMA/EEMAC 3R-4-12 Enclosure NS/LCRANEA/T#&&E
2 C/W Standard ground standoffs on box and cover DATE:
3 ')'/ ndar r stiffener —
/O Standard door stiffene Please visit: www.boxcadexm.com )
4 C/W Inner panel -
5 C/W Inner panel mounting standoffs
b _—
@ ——
J L, L —
b —
D a —
=Ca —c ! —
View Without Cover —
Isometric View
Flatness
Aplatissement
—
\4 Tél: (450) 979-4373 |~ Max 3.0mm_
Fax: (450) 979-4626 |Projection
D)‘\{ www.exmweb.com i@ E
Customer Date
Client
Drawn By e Date
Dessiné Par BoxCad: ZinH 2022/7/20
1 | STK-K-02910 3 |5412 ESCH Accessory Kit Material
2 |STK-Q-03200 0 [M6 x 8mm Hexagon/Slot Screw Matiere 16 GaH.R.P. & O. (1.4mm)
1 [1412T3203IP 0 (141273203 Inner Panel Color Fimish
6 [STK-Q-03035 4 Stainless Steel 316 Phillips Oval Head Screw M5 x Couleur Asa-61 Grey Fini Smooth
18.5mm (Pitch 0.8mm) Description Detail Rev.
6 |STK-Q-77280 5 5412 ESSC M5 Countersink Insert (Flat Hole)
1 [1412T3203C 0 [141273203 Cover 141273203 Assembly
1 [141273203B 0 (141273203 Body Part Number Rev. |2
Qty Part Number Rev. Description Numero Piece 0
Parts List 141273203 5 )

N X3 ap JUaliajuasuod 9] SUES osin No JINpoidal 8118 Sed JIop U J8 [2jUSpIU0D 158 UISSap 80




This drawing is confidential and must not be reproduced or used without the consent of EXM

Tolerance +1/32" unless otherwise specified

C:\Vault Workspace\lnventor Dwg\lnv-1\1412T3203\1412T3203.idw

Tolérance +1/32" sauf spécification contraire

— N
— (" APPROVED FOR PRODUCTION M- Revisions Date | By/Par
-
APPROUVE POUR PRODUCTION
SIGNATURE:
NAME / NOM:
DATE:
\_ Please visit: www.boxcadexm.com )
T(LP
o N o o o
o o o
/4x $0.390 S > S S S
~=~——6.750 o © =) < ©
0.625—=f —— 7] | | | 36,000
[} d- q‘ D T " "
® ° 30.700 —
m { 1o ) —
o —
B —
'\. —
N | —
@ ——
p —
J —
-] o) . .
5.300 ] Isometric View
Flatness
Aplatissement
—
o o L A \ Tél: (450) 979-4373 |~ Max 3.0mm_
~——0.000 —0.000 Fax: (450) 979-4626 |Projection
‘ T \ D)‘\{ www.exmweb.com
BACK & FRONT 2x Standoff M6x10mm  RIGHT @ 5
© Standoff M6x10mm (Inside) gﬁgﬁgmer Date
o
Drawn By e Date
: Dessiné Par BoxCad: ZinH 2022/7/20
1 |STK-P-024008 0 |Powder Paint (Asa-61 Grey / Smooth) Material
3 [STANDOFF_M6 x 10mm 5 Standoff M6 x 10mm Matiére 16 GaH.R.P. & O. (1.4mm)
1 [STK-Q-08100-4 1 M5 Nylon Insert Lock Nut Color Finish
3 |STK-Q-08100-3 1 M5 Nylon Insert Lock Nut Couleur Asa-61 Grey Fini Smooth
1 [STK-Q-08100-2 1 M5 Nylon Insert Lock Nut Description Detail Rev.
1 | STK-Q-08100-1 1 M5 Nylon Insert Lock Nut
1 [1412T3203B-P 0 (141273203 Body Part 141273203 Body
6 |DEV-STK-Q-70464 2 |5412 ESSC & ESSSC Stainless Steel Body Catch Assembly Part Number Rev. 3
BOTTOM Qty Part Number Rev. Description Numéro Piéce 0
Parts List 1412T73203B 5 )

N X3 ap JUaliajuasuod 9] SUES osin No JINpoidal 8118 Sed JIop U J8 [2jUSpIU0D 158 UISSap 80




This drawing is confidential and must not be reproduced or used without the consent of EXM

Tolerance +1/32" unless otherwise specified

C:\Vault Workspace\lnventor Dwg\lnv-1\1412T3203\1412T3203.idw

Tolérance +1/32" sauf spécification contraire

Label
\ (

1.208

1.192 —=

BACK

¥

Standoff M6x10mm

/0.656
'-0.000

—-0.000

APPROVED FOR PRODUCTION ~ |No. Revisions Date [ By/Par
APPROUVE POUR PRODUCTION
SIGNATURE:
NAME / NOM:
DATE:
Y Please visit: www.boxcadexm.com
<
()
-
0
' ~—36.126
3 —
d I
9 —
b —
q —
9 Isometric View
Flatness
Aplatissement
—
Tél: (450) 979-4373 |~ Max 3.0mm_
-0.000 Fax: (450) 979-4626 |Projection
l . D)‘\{ www.exmweb.com i@ E
RIGHT Customer Date
Client
Drawn By e Date
Dessiné Par BoxCad: ZinH 2022/7/20
Material
Matiére 16 Ga H.R.P. & O. (1.4mm)
Color Finish
1 |STK-P-02400S 0 |Powder Paint (Asa-61 Grey / Smooth) | Couleur Asa-61 Grey Fini Smooth
1 [STK-S-00100 0 3.5" x 2" Silver Milar Flexcon Sticker Description Detail Rev.
1 |STANDOFF_M6 x 10mm 5 Standoff M6 x 10mm
1 |1412T3203G 0 |1412T3203 Gasket 141273203 Cover
1 [1412T3203C-P 0 [1412T3203 Cover Part Part Number Rev. |2
Qty Part Number Rev. Description Numéro Piéce 0
Parts List 1412T73203C 5)

N X3 ap JUaliajuasuod 9] SUES osin No JINpoidal 8118 Sed JIop U J8 [2jUSpIU0D 158 UISSap 80




This drawing is confidential and must not be reproduced or used without the consent of EXM

Tolerance +1/32" unless otherwise specified

C:\Vault Workspace\lnventor Dwg\lnv-1\1412T3203\1412T3203.idw

Tolérance +1/32" sauf spécification contraire

DETAIL B

115.0°

10.800

10.800

o}

FR(LNT

— N
( APPROVED FOR PRODUCTION |- Revisions Date | By/Par
APPROUVE POUR PRODUCTION
SIGNATURE:
NAME / NOM:
DATE:
\__ Please visit: www.boxcadexm.com y
T 26.400
() —
o= —
m I
= _—
o ————]
= ——
m I
oy —
—— —
| ——
N —
Isometric View
Flatness
Aplatissement
—
\4 Tél: (450) 979-4373 Max 3.0mm
Fax: (450) 979-4626 |Projection
D)‘\{ www.exmweb.com i@ E
Customer Date
Client
Drawn By BoxCad: Patrick Deschénes |2 2020/10/21
Material
*—0.000 Matiére 16 Ga Galvanized (1.4mm)
3 Color Finish
RIGHT Couleur Unpainted Fini Galvanized
Description Detail Rev.
141273203 Inner Panel
1 [1412T3203IP-P 0 [1412T3203 Inner Panel Part Number Rev. s
Qty Part Number Rev. Description Numéro Piéce 0
Parts List 1412T3203IP 5)

N X3 ap JUaliajuasuod 9] SUES osin No JINpoidal 8118 Sed JIop U J8 [2jUSpIU0D 158 UISSap 80




